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*giﬁfg TREOBHOEILADKRES TREFOHBESIENDKRES TREOBBOSILADKRES TREDHFESILNIDOKRES
= = AN E AN | = = AN = R AN = =3
Floms B TR et | B | e | oo | | B |y | e e | B2 e | e
’ 100kN/mM##BZ % 1.00/ 000 ~ 297 147.25|3m%#8% 5| 0.00 ~ 0.23| 3.13 16.73| 100kN/m%#z 3 1.00| 1059 ~ 25.20 147.25|3m%#B% 5| 25.00 ~ 25.20| 3.13 16.73
Zh st 1.00] 297 ~ 10.76 100.00] Zh st [0.23 ~ 10.76] 3.00 16.05 ZThLLSE 1.00] 500 ~ 1059 100.00f Zh it | 500 ~ 25.00] 3.00 16.05
9 100kN/mM#%#BZ % 1.00/ 000 ~ 3.13 149.88|3m%i#E% 5| 0.00 ~ 0.46| 3.27 17.52| 100kN/m%#z% 1.00[ 11.00 ~ 27.11 149.88|3m%i#B%5%(25.00 ~ 27.11| 3.27 1752
Zh st 1.00{3.13 ~ 1091 100.00] Zh st | 046 ~ 10.91| 3.00 16.05 Zh LS 1.00|] 500 ~ 11.00 100.00f #hlist | 500 ~ 25.00] 3.00 16.05
3 100kN/mM##8Z % 1.00/ 000 ~ 270 142.56|3mZ#BZD| - ~ = = -| 100kN/iZi#8 % % 1.00 11.11 ~ 23.20 142.56|3m%HBZ% = ~ = = =
Zh st 1.00] 2.70 ~ 1049 100.00] Zh st | 0.00 ~ 10.49| 2.93 15.68 Zh LS 1.00|] 500 ~ 11.11 100.00| Zhlist | 500 ~ 23.20] 293 15.68
4 100kN/mM#%# 8% % 1.00/ 000 ~ 222 134.45|3mZi#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00] 10.74 ~ 19.21 134.45|3m%i#BZ% = ~ = = =
Zh st 1.00| 2.22 ~ 10.00 100.00] ZH st | 0.00 ~ 10.00] 249 13.32 Zh LS 1.00|] 500 ~ 10.74 100.00| Zh it | 500 ~ 19.21| 249 13.32
100kN/mM#%# 8% % ~ ImERBZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM#%#BZ % ~ ImERBZ D ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM#%# 8% % ~ ImERBZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
ZFhn st ~ ZFh st ~ Zh st ~ Zzh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ ZFh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ ZhLst ~
100kN/mM%#EZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#EZ % ~ ImEEZD ~
Zhn st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~
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